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The 200-mm-radius disk rolls without sliding on the surface shown. :’
Knowmo that the distance BG 1s 160 mm and that at the instant L, e
shoWn the disk has an angular velocity of 8 rad/s counterclockwise 3, Vp* Vq t V%
and an angular acceleration of 2 rad/s® clockwise, determine the
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A 45-g bullet 1s fired with a velocity of 400 m/s at @ = 30° into a 9-kg
square panel of side » = 200 mm. Knowing that 2 = 150 mm and that

Hm =L, w

the panel 1s initially at rest, determine (a) the velocity of the center of the
panel immediately after the bullet becomes embedded, (b) the impulsive
reaction at A, assuming that the bullet becomes embedded in 2 ms.
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AF=d=RFE Sin(243) =744 ww = 00741 m
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